
CHM151 Quiz 5 25 Pts Fall 2017 Name: - -----'}Z'----.e,_,--~------­
Piv; = P2V2 PV=nRT 
Ti T2 

R = 0.0821L•atm/mol•K = 62.4L•torr/mol•K Molar masses: C 12.01, H 1.008, N 14.01, 0 16.00 

1. (5 Pts) A sample of a gas occupies 1.70 x 103 mL at 25°C and 760 mmHg. What volume will it 
occupy at the same temperature and 480 mmHg? 

Pi V ~ = P~ V). ~ ~" ' Ts e,~ ""~"~ c ,. 70 x,ol ""0" so""·"' I J) v ~ 
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2. (5 Pts) Calculate the volume occupied by 35.2 g of CO2 gas at 25°C and 1.1 atm. R = 0.08206 

L·atm/K·mol. f V::: f) R ~, 7J'lfJ, .. ~I o,o ~ 1 .. :Q.i/r.. ('J_ 9~ 

f\-= ""'5 , l.' ?"1 -= 0, 79Cf SJrn~) V = - . t .J< (t,/o.j/1 

'-f l/,D I~ 6,"50 
3. (5 Pts) Calculate the density, in g/L, ofN2 gas at 45°C and 0.95 atm pressure. 

Den., t.,. " !'/1.. _ ~ ~ _ Q ,...i )t';.:_;· o:..:::g=~~I ~~-~~-.-,--~---=-
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4. (4 Pts) Determine the oxidation number of each of the elements in BaNaPO4? 

t- X ~ 4(-~ _ D - - X = +S4{:::P 
p 0 

5. (4 Pts) At what temperature will a sample of nitrogen gas with a volume of 328 mL at 15°C and 748 
mmHg occupy a volume of 0.898 Lat a pressure of 642 mm Hg? Assume the amount of the nitrogen 
gas does not change. 

P, v, T(j) -==- 1\. v~ Tcv ,\{ \ 
Q 48"""' "0 (o. 3~~ 0 l;.. "" ( b'f;i."'"" t-ilj(o, 3'190 ;) rt'd kJ 

T~:::G7b,~K ~ 4 D3 ,~°C 
6. (2 Pts) Under what temperature and pressure conditions (high or low for each) does the ideal gas law 

fail? 
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R = 0.0821L•atm/mol•K = 62.4L•torr/mol•K Molar masses: C 12.01, H 1.008, N 14.01, 0 16.00 

1. (5 Pts) A sample of a gas occupies 1.70 x 103 mL at 25°C and 760 mm.Hg. What volume will it 
occupy at the same temperature and 580 mm.Hg? 

P, v, ~.::: p,._ v~~ Co.n,-e,, l T 
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2. (5 Pts) Calculate the volume occupied by 45.2 g of CO2 gas at 25°C and 1.1 atm. R = 0.08206 

L-a~·~ O~ 1 _ (!_ * o ?:_11m;)D <,, O~lOb L-Qtlt.) c~ 9 k) 
p 4 I I V - fl o} • k (It I o.t IM.J 
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LJ'/,t)'? v-=- ::2. l , ~ L -

3. (5 Pts) Calculate the density, in g/L, ofN2 gas at 55°C and 0.95 atm pressure. \ 

D , :>, t, ~ ~ A V ~ Y) Ar= (, ~! o, o 8~) L-~ [ 3 2- & ]r-J 
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hef\S> h:~ ~ ~~,o~ 
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4. (4 Pts) Determine the oxidation number of each of the elements in BaNaPO4? 

?= +5 

5. (4 Pts) At what temperature will a sample of nitrogen gas with a volume of 328 mL at 15°C and 748 
mmHg occupy a volume of 0.898 Lat a pressure of 642 mm Hg? Assume the amount of the nitrogen 
gas does not change. 

Pi v, ~ ~ V ~ CD \ / ~ I ) 
(7 4£>"""" I;) to. 31~ 1...) @ "" ( b It~ """" tt8J LO • ~ ~ ~ 1i l ~_?JS' k. 

~ _: 67b,~ }( !:: '-/OJ,~ Oc_ -6. (2 Pts) Under what temperature and pressure conditions (high or low for each) does the ideal gas law 
fail? 
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